


SECTION A (25 MARKYS)

1. Explain why sharp shadows support the theory that light travels in straight lines
(1 mark)
2. State one application of total internal reflection (1 mark)
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a) Give two reasons why radioactive disintegration is different from ordinary
chemical changes? (2 marks)
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b) A radioactive isotope ZS%T }/ emits two alpha particles and two beta particles as a

Y
result of four successive disintegration. If the daughter product is represented as z
Work out the values of A and Z. (2 marks)
4. Use the circuit in fig (10) below to answer the questions that follow.
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(a) Calculate the total résistance in the circuit. (2 marks)
(b) Calculate current the effective current in the circuit (2 marks)
(1) The sketch below shows an image placed some distance from a biconvex lens.
F
Draw rays to locate the image on the diagram (2 marks)
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